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f(x)=ar(x)+a,r,(x)+L +a_r_ (x)
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f(x)=ax" +a,e”™ +a,sin(x)
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[ (1) Isqcurvefitfy&----g/D &

a= Isqcurvefit(fun,x0,xdata,ydata)

[a,resnorm|=Isqcurvefit(fun,x0,xdata,ydata)
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‘function y=f(a,x)
f=a(1)*exp(x)+a(2)*x.”2+a(3)*x."3

RENL. m, HIKFRHZERE

x=0:0.1:1;
y=[3.1,3.27,3.81,4.5,5.18,6,7.05,8.56,9.69,11.25,13.17];
a0=[0 0 0];

[x,resnorm|=Isqcurvefit(@f,a0,x,y)
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x=0:0.1:1;

y=[3.1,3.27,3.81,4.5,5.18,6,7.05,8.56,9.69,11.25,13.1
715

f=inline('a(1)*exp(x)+a(2)*x.~2+a(3)*x.*3",'a','x’");

a0=[0 0 0];
[a,resnorm]=Isqcurvefit(f,al,x,y)

plot(x,y,'*")
hold on

s=a(1)*exp(x)+a(2)*x.”2+a(3)*x.3;
plot(x,g,'r-')
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(2) polyfitipS—FHAHZIUS

" a = polyfit(xdata,ydata,n)
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y = polyval (a, x)
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Jclear;clc;
x=0:0.1:1;

plot(x,y,'k.','markersize',25);
axis([0 1.3 -2 16]);
p3=polyfit(x,y,3)

p6=polytit(x,y,0)
t=0:0.01:1.2;
s=polyval(p3.t);
s1=polyval(p6,t);

hold on
plot(t,s,'r-','linewidth',2);
plot(t,s1,'b--','linewidth’',2);
orid

y=[-0.447 1.978 3.28 6.16 7.08 7.34 7.66,9.56,9.48,9.3,11.2];
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x=1949:5:1994;

vy=[541.67,602.66,672.09,704.99,806.71,90
8.59,975.42,1034.75,1106.76,1176.74];

plot(x,y,'r*','linewidth’,2)

grid
f=inline(‘a(1)+a(2)*x','a','x");
a0=[0 5];
[a,resnorm]=Isqcurvefit(f,a0,x,y)
hold on

g=a(l)+a(2)*x;
plot(x,g,'b-','linewidth’,2)
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